

## RIBAUCCOUR TRANSFORMATION FOR FLAT $m$ -SUBMANIFOLDS IN $\mathbb{H}^{m+n}$

DAFENG ZUO

ABSTRACT. By using  $O(m+n, 1)/O(m) \times O(n, 1)$ -system, we give an analytic version of Ribaucour transformation for flat  $m$ -dimensional submanifolds in  $\mathbb{H}^{m+n}$  with flat, non-degenerate normal bundle and free of weak umbilics, where  $n \geq m - 1$ .

### 1. Introduction

The study of immersions of space forms into space forms is one of the most important and interesting problems in classical differential geometry. E. Cartan showed that an  $n$ -dimensional hyperbolic space form can be locally immersed in  $\mathbb{E}^{2n-1}$  and the dimension  $2n - 1$  cannot be lowered [2, 6]. It is a classical result due to Hilbert [5] that there are no complete isometric immersions  $N^2(c') \rightarrow N^3(c)$  if  $c' < c$  and  $c' < 0$ , but it is yet unknown (though conjectured) whether this result extends to complete isometric immersions  $N^n(c') \rightarrow N^{2n-1}(c)$  for  $c' < c$  and  $c' < 0$ . Notice that for the case  $c' = 0$ , one always has the Clifford tori, and  $c' > 0$  cannot occur due to the fact that such immersions induce global Chebyshev coordinates [7, 11]. In contrast, when  $c' > c$ , one always has the totally umbilical hypersurfaces. Especially if the immersion has no umbilic points, then the normal bundle is flat [7]. Later, in [13, 14], Tenenblat and Terng studied immersions of  $\mathbb{H}^n$  into  $\mathbb{E}^{2n-1}$  and  $\mathbb{E}^n$  into  $\mathbb{S}^{2n-1}(1)$ , too.

Recently Terng et al in [12, 1] showed that to each symmetric space  $G/K$  one can associate to an  $m$ -dimensional first order systems of partial differential equations (PDEs in brief), the so-called  $G/K$ -system. By using  $G_{m,n}^{p,q}$ -systems they studied local non-degenerate isometric immersions  $X : N_s^m(c') \rightarrow N_s^{m+k}(c)$  ( $s = 0$  or  $1$ ) with flat normal bundle and

---

Received May 4, 2006.

2000 Mathematics Subject Classification: 53A05, 35Q51.

Key words and phrases:  $O(m+n, 1)/O(m) \times O(n, 1)$ -system, Ribaucour transformation,  $\mathbb{H}^{m+n}$ .

$c' \leq c$ , where  $G_{m,n}^{p,q} = O(m+n, p+q)/O(m, p) \times O(n, q)$ . On the other hand, the classical Ribaucour transformation for surfaces in Euclidean 3-space was extended for submanifolds of space forms with arbitrary dimension and codimension in [4], where it was applied to develop a transformation theory for submanifolds with constant sectional curvature. It was later shown that the dressing action of a simple element on a solution of the  $G_{n,m}^{p,q}$ -system corresponds to a Ribaucour transformation of the associated submanifold, see [12, 1, 8, 9, 10, 15] for details.

A natural question is whether Terng's method can be used to study local isometric immersions  $X : N^m(c') \rightarrow N^{m+n}(c)$  with flat normal bundle and  $c' > c$ . In this paper we shall discuss  $c' = 0$ ,  $c = -1$  and  $n \geq m - 1$  and obtain an analogous results of [1] for flat  $m$ -dimensional submanifolds in  $\mathbb{S}^{2n-1}$ . We notice that the Gauss-Codazzi equations of  $X$  under certain conditions are gauge equivalent to the  $G_{m,n}^1 = O(m+n, 1)/O(m) \times O(n, 1)$ -system and show that the dressing action of a simple element on the space of solutions of the  $G_{m,n}^1$ -system gives rise to a Ribaucour transformation of the flat  $m$ -dimensional submanifold  $X$  in  $\mathbb{H}^{m+n}$ .

## 2. The general cases of the $G_{m,n}^1$ -system

G/K-systems were introduced for a symmetric space G/K by Terng et al in [12, 1]. To keep self-contained, below we give a short review of some known facts about the  $G_{m,n}^1$ -system, see [1, 15] for details.

DEFINITION 2.1. ([1, 12]) The  $G_{m,n}^1$ -system is the following PDEs for  $\xi = (\xi_{ij}) : R^m \rightarrow \mathcal{M}_{m \times (n+1)}$  with  $\xi_{ii} = 0$  for all  $1 \leq i \leq m$  such that

$$(2.1) \quad \theta_\lambda = \sum_{i=1}^m \begin{pmatrix} D_i \xi^t - \xi D_i^t & -\lambda D_i I_{n,1} \\ \lambda D_i^t & D_i^t \xi - I_{n,1} \xi^t D_i I_{n,1} \end{pmatrix} dx_i$$

is a family of flat connections on  $R^m$  for all  $\lambda \in \mathbb{C}$ , i.e.,

$$(2.2) \quad d\theta_\lambda + \theta_\lambda \wedge \theta_\lambda = 0.$$

Here  $D_i \in \mathcal{M}_{m \times (n+1)}$  is the matrix all whose entries are zero except that  $(i, i)$ -th entry is equal to 1.

It follows from (2.2) that for a given initial value  $E(0, \lambda)$  there exists a smooth map  $E : \mathbb{R}^m \times \mathbb{C} \rightarrow O(m+n, 1)$ , called the frame of  $\theta_\lambda$ , such

that  $E^{-1}dE = \theta_\lambda$ . The  $G_{m,n}^1$ -reality condition is

$$(2.3) \quad \begin{cases} \overline{g(\bar{\lambda})} = g(\lambda), \\ I_{m,n+1}g(\lambda)I_{m,n+1} = g(-\lambda), \\ g(\lambda)I_{m+n,1}g(\lambda)^t = I_{m+n,1}. \end{cases}$$

Let  $g = \begin{pmatrix} B & 0 \\ 0 & A \end{pmatrix} \in O(m) \times O(n, 1)$  be a solution of  $g^{-1}dg = \theta_0$ .

Write

$$\begin{aligned} \xi &= (F, G), \quad D_i = (C_i, 0), \quad A = (A_1, A_2), \quad F, C_i \in gl(m), \\ G &\in \mathcal{M}_{m \times (n+1-m)}, \quad A_1 \in \mathcal{M}_{(n+1) \times m}, \quad A_2 \in \mathcal{M}_{(n+1) \times (n+1-m)}, \end{aligned}$$

and

$$h = \begin{pmatrix} I_m & 0 \\ 0 & A \end{pmatrix}.$$

To do the gauge transformation of  $\theta_\lambda$  of by  $h$ , we have

$$(2.4) \quad \Omega_\lambda = h*\theta_\lambda = h\theta_\lambda h^{-1} - dh h^{-1} = \sum_{i=1}^m \begin{pmatrix} C_i F^t - F C_i^t & -C_i A_1^t I_{n,1} \lambda \\ A_1 C_i^t \lambda & 0 \end{pmatrix} dx_i.$$

It is also a family of flat connections on  $\mathbb{R}^m$  for all  $\lambda \in \mathbb{C}$ , i.e.,

$$(2.5) \quad \begin{cases} (f_{ij})_{x_i} + (f_{ji})_{x_j} + \sum_{k=1}^m f_{ki} f_{kj} = 0, & \text{if } i \neq j, \\ (f_{ij})_{x_k} = f_{ik} f_{kj}, & \text{if } i, j, k \text{ are distinct,} \\ (a_{ij})_{x_k} = a_{ik} f_{kj}, & \text{if } j \neq k, \end{cases}$$

where  $A = (a_{ij}) \in O(n, 1)$  and  $F = (f_{ij}) \in gl_*(m) = \{(g_{ij}) \in gl(m) | g_{ii} = 0, 1 \leq i \leq m\}$ . Note that  $Eh^{-1}$  is a frame of  $\Omega_\lambda$ . The system (2.5) is called the  $G_{m,n}^1$ -**II system**.

In [15] we have obtained an explicit construction of the dressing action of a rational map with two simple poles of solutions of the  $G_{m,n}^{p,q}$ -system. Here we only state the result. Let  $\mathbb{C}^{m+n+1}$  be equipped with the bilinear form

$$\langle u, v \rangle_1 = \sum_{i=1}^{m+n} \bar{u}_i v_i - \bar{u}_{m+n+1} v_{m+n+1}.$$

Let  $W$  and  $Z$  be unit space-like constant vectors in  $\mathbb{R}^m, \mathbb{R}^{n,1}$  respectively, and  $\pi$  the orthogonal projection onto the space of  $\mathbb{C} \begin{pmatrix} W \\ iZ \end{pmatrix}$  with respect to  $\langle \cdot, \cdot \rangle_1$ . Define

$$(2.6) \quad g_{s,\pi} = \left( \pi + \frac{\lambda - is}{\lambda + is} (I - \pi) \right) \left( \bar{\pi} + \frac{\lambda + is}{\lambda - is} (I - \bar{\pi}) \right), \quad 0 \neq s \in \mathbb{R}.$$

LEMMA 2.2. ([15]) Let  $\xi : \mathbb{R}^m \rightarrow \mathcal{M}_{m \times (n+1)}$  be a solution of the  $G_{m,n}^1$ -system (2.2), and  $E(x, \lambda)$  a frame of  $\xi$  such that  $E(x, \lambda)$  is holomorphic for  $\lambda \in \mathbb{C}$  and  $E(0, \lambda) = I$ . Let  $g_{s,\pi}$  as in (2.6) and

$$(2.7) \quad \begin{pmatrix} \tilde{W} \\ i\tilde{Z} \end{pmatrix} (x) = E(x, -is)^{-1} \begin{pmatrix} W \\ iZ \end{pmatrix},$$

and  $\tilde{\pi}$  the orthogonal projection onto the space of  $\mathbb{C} \begin{pmatrix} \tilde{W} \\ i\tilde{Z} \end{pmatrix}$  with respect to  $\langle \cdot, \cdot \rangle_1$ . Then  $\tilde{\xi} = g_{s,\pi} \# \xi = \xi - 2s(\hat{W}\hat{Z}^t I_{n,1})_*$  is a new solution of (2.2) and  $\tilde{E} = E g_{s,\tilde{\pi}}^{-1}$  is a frame for  $\tilde{\xi}$ , where  $\hat{W} = \frac{\tilde{W}}{\|\tilde{W}\|_{\mathbb{R}^m}}$  and  $\hat{Z} = \frac{\tilde{Z}}{\|\tilde{Z}\|_{\mathbb{R}^{n,1}}}$ .

Note that both  $E$  and  $\tilde{E}$  satisfy the  $G_{m,n}^1$ -reality conditions (2.3) which implies that  $E(x, 0)$  and  $\tilde{E}(x, 0)$  are in  $O(m+n, 1)$ . Write

$$E(x, 0) = \begin{pmatrix} B(x) & 0 \\ 0 & A(x) \end{pmatrix}, \quad \tilde{E}(x, 0) = \begin{pmatrix} \tilde{B}(x) & 0 \\ 0 & \tilde{A}(x) \end{pmatrix}$$

for some  $A, B, \tilde{A}$  and  $\tilde{B}$ , and we have

$$\begin{cases} \tilde{A} = A(I - 2\hat{Z}\hat{Z}^t I_{n,1}), \\ \tilde{B} = B(I - 2\hat{W}\hat{W}^t). \end{cases}$$

Write

$$\xi = (F, G), \quad \tilde{\xi} = (\tilde{F}, \tilde{G}), \quad A = (A_1, A_2), \quad \tilde{A} = (\tilde{A}_1, \tilde{A}_2).$$

Here  $A_1, \tilde{A}_1 \in \mathcal{M}_{(n+1) \times m}$ , and  $A_2, \tilde{A}_2 \in \mathcal{M}_{(n+1) \times (n+1-m)}$ . Obviously  $(A_1, F)$  and  $(\tilde{A}_1, \tilde{F})$  are solutions of the  $G_{m,n}^1$ -II system (2.5), the corresponding frames are  $E^{II}(x, \lambda)$  and  $\tilde{E}^{II}(x, \lambda)$ , where

$$E^{II}(x, \lambda) = E(x, \lambda) \begin{pmatrix} I_m & 0 \\ 0 & A^{-1} \end{pmatrix}, \quad \tilde{E}^{II}(x, \lambda) = \tilde{E}(x, \lambda) \begin{pmatrix} I_m & 0 \\ 0 & \tilde{A}^{-1} \end{pmatrix}.$$

It follows from lemma 2.2 that

$$(2.8) \quad \tilde{E}^{II}(x, \lambda) = E^{II}(x, \lambda) \left( I - \frac{2}{s^2 + \lambda^2} \begin{pmatrix} s\tilde{W} & \\ & -\lambda A\tilde{Z} \end{pmatrix} (s\tilde{W}^t, -\lambda\tilde{Z}^t A^t I_{n,1}) \right).$$

In the following, we use the notation:

$$(\tilde{A}_1, \tilde{F}, \tilde{E}^{II}) = g_{s,\pi} \# (A_1, F, E^{II}).$$

### 3. Ribaucour transformations in $\mathbb{H}^{m+n}$

In this section we will show that the dressing action of  $g_{s,\pi}$  on the spaces of solutions of the  $G_{m,n}^1$ -II system (2.2) gives rise to a Ribaucour transformation for flat  $m$ -dimensional submanifolds with flat and non-degenerate normal bundle in  $\mathbb{H}^{m+n}$ , where  $n \geq m - 1$ .

Let  $X$  be a flat  $m$ -dimensional submanifold in  $\mathbb{H}^{m+n}$  with flat, non-degenerate normal bundle and free of weak umbilics. Recall from [7, 3] that a point  $x \in X$  is said to be weak umbilics if there is a unit normal vector  $\zeta$  at  $x$  such that  $A_\zeta = Id$ , where  $A_\zeta$  denotes the shape operator in the direction  $\zeta$ . Fix a local parallel normal frame  $\{e_{m+1}, \dots, e_{m+n}\}$ , then there exist (see [3] for details) line of curvature coordinates  $\{x_1, \dots, x_m\}$  and a smooth map  $A_1 \in \mathcal{M}_{(n+1) \times m}$  such that

$$A_1^t I_{n,1} A_1 = \begin{cases} I_m & \text{if } n \geq m \\ I_{m-1,1} & \text{if } n = m - 1 \end{cases}$$

and the first and the second fundamental forms are

$$(3.1) \quad ds^2 = \sum_{k=1}^m a_{n+1,k}^2 dx_k^2, \quad II = \sum_{k=1}^m \sum_{j=1}^n a_{n+1,k} a_{jk} dx_k^2 e_{m+j}.$$

A direct computation gives the following proposition.

**PROPOSITION 3.1.** *If set  $f_{ij} = \frac{(a_{n+1,j})_{x_i}}{a_{n+1,i}}$  for  $i \neq j$ ,  $f_{ii} = 0$  for all  $1 \leq i \leq m$  and  $F = (f_{ij})$ , the Gauss-Codazzi-Ricci equations for the immersion  $X$  are the  $G_{m,n}^1$ -II system (2.5) for  $(A_1, F)$  which is called the generalized Laplace equation in [3].*

Suppose

$$X = e_{m+n+1}, \quad e_k = \frac{X_{x_k}}{a_{n+1,k}}, \quad 1 \leq k \leq m$$

and

$$g = (e_1, \dots, e_{m+n+1}) \in O(m+n, 1).$$

Then

$$(3.2) \quad g^{-1}dg = \Omega_\lambda|_{\lambda=1} = \sum_{i=1}^m \begin{pmatrix} C_i F^t - F C_i^t & -C_i A_1^t I_{n,1} \\ A_1 C_i^t & 0 \end{pmatrix} dx_i.$$

By the fundamental theorem of submanifolds, we have

**PROPOSITION 3.2.** *Let  $(A_1, F)$  be a solution of the  $G_{m,n}^1$ -II system (2.5), then (3.2) is solvable. Let  $g$  be a solution of (3.2) and  $X$  the last column of  $g$ . If all entries of the last row of  $A_1$  are non-zero, then  $X$*

is a local isometric immersion of a flat  $m$ -dimensional submanifold in hyperbolic space  $\mathbb{H}^{m+n}$  with flat, non-degenerate normal bundle such that the two fundamental forms are given by (3.1), where  $A_1 = (a_{ij})$ .

**THEOREM 3.3.** *Let  $E^{II}$  be a frame of the solution  $(A_1, F)$  of the  $G_{m,n}^1$ -II system (2.5),  $g_{s,\pi}$  given by (2.6) and  $(\tilde{A}_1, \tilde{F}, \tilde{E}^{II}) = g_{s,\pi}\sharp(A_1, F, E^{II})$ . Write*

$$(3.3) \quad \begin{aligned} E^{II}(x, 1) &= (e_1, \dots, e_m, e_{m+1}, \dots, e_{m+n}, X), \\ \tilde{E}^{II}(x, 1) &= (\tilde{e}_1, \dots, \tilde{e}_m, \tilde{e}_{m+1}, \dots, \tilde{e}_{m+n}, \tilde{X}). \end{aligned}$$

Then:

(1) both  $X$  and  $\tilde{X}$  are flat  $m$ -dimensional submanifolds in  $\mathbb{H}^{m+n}$  with flat and non-degenerate normal bundle,  $\{x_1, \dots, x_m\}$  line of curvature coordinates,  $\{e_{m+k}\}_{k=1}^n$  and  $\{\tilde{e}_{m+k}\}_{k=1}^n$  are parallel normal frames for  $X$  and  $\tilde{X}$  respectively.

(2) The bundle morphism  $P : \vartheta(X) \rightarrow \vartheta(\tilde{X})$  defined by  $P(e_{m+k}(x)) = \tilde{e}_{m+k}(\mathcal{L}(x))$  for  $1 \leq k \leq n$  is a Ribaucour transformation covering the map  $\mathcal{L} : X(x) \rightarrow \tilde{X}(x)$ .

**PROOF.** (1) follows from lemma 2.2 and proposition 3.2.

(2) Firstly we show that if  $(A_1, F)$  is a solution of  $G_{m,n}^1$ -II system (2.5), then there exists an  $\mathcal{M}_{m \times (n+1-m)}$ -valued map  $G$  such that  $\xi = (F, G)$  is a solution of the  $G_{m,n}^1$ -system (2.2). We consider two cases.

*Case 1.*  $n = m - 1$ . In this case  $A_1 \in O(n, 1)$  and we only need to prove that  $F$  is a solution of the  $G_{m,n}^1$ -system (2.2). Let  $h_1 = \begin{pmatrix} I_m & 0 \\ 0 & A_1^{-1} \end{pmatrix}$  and the gauge transformation of  $h_1$  on  $\Omega_\lambda$  is

$$(3.4) \quad \begin{aligned} h_1 * \Omega_\lambda &= h_1 \Omega_\lambda h_1^{-1} - dh_1 h_1^{-1} \\ &= \sum_{i=1}^m \begin{pmatrix} C_i F^t - F C_i^t & -C_i I_{n,1} \lambda \\ C_i^t \lambda & A_1^{-1} A_{1x_i} \end{pmatrix} dx_i \end{aligned}$$

By using (2.5), we have

$$(3.5) \quad A_1^{-1} A_{1x_i} - (C_i^t F - I_{n,1} F^t C_i I_{n,1}) = Y C_i, \quad 1 \leq i \leq m,$$

where  $Y : R^m \rightarrow gl(m)$ . It follows from (3.5) and  $A_1 \in O(n, 1)$  that  $Y C_i I_{n,1} + (Y C_i I_{n,1})^t = 0$  for all  $1 \leq i \leq n$ , which implies that  $Y = 0$ . Hence  $F$  is a solution of the  $G_{m,n}^1$ -system (2.2).

*Case 2.*  $n > m - 1$ . Choose  $A_2 \in \mathcal{M}_{(n+1) \times (n+1-m)}$  such that  $A = (A_1, A_2) \in O(n, 1)$ . Set  $h = \begin{pmatrix} I_m & 0 \\ 0 & A^{-1} \end{pmatrix}$ . The gauge transformation

of  $h$  on  $\Omega_\lambda$  is

$$(3.6) \quad \begin{aligned} h * \Omega_\lambda &= h\Omega_\lambda h^{-1} - dh h^{-1} \\ &= \sum_{i=1}^m \begin{pmatrix} C_i F^t - F C_i^t & -C_i \lambda & 0 \\ C_i^t \lambda & A_1^t I_{n,1} A_{1x_i} & A_1^t I_{n,1} A_{2x_i} \\ 0 & J A_2^t I_{n,1} A_{1x_i} & J A_2^t I_{n,1} A_{2x_i} \end{pmatrix} dx_i, \end{aligned}$$

where  $J = I_{n-m,1}$ . From (2.5), we have

$$(3.7) \quad dA_1 = A_1 \sum_{i=1}^m (C_i^t F - F^t C_i) dx_i + \zeta \sum_{i=1}^m C_i dx_i$$

for some  $\zeta : R^m \rightarrow \mathcal{M}_{(n+1) \times m}$ . Thus

$$(3.8) \quad A_2^t I_{n,1} dA_1 = A_2^t I_{n,1} \zeta \sum_{i=1}^m C_i dx_i.$$

Notice that  $A^{-1}dA$  is flat and

$$(3.9) \quad A^{-1}dA = \begin{pmatrix} A_1^t I_{n,1} dA_1 & A_1^t I_{n,1} dA_2 \\ J A_2^t I_{n,1} dA_1 & J A_2^t I_{n,1} dA_2 \end{pmatrix},$$

we can get

$$J dA_2^t \wedge I_{n,1} dA_2 = J A_2^t I_{n,1} dA_1 \wedge A_1^t I_{n,1} dA_2 + J A_2^t I_{n,1} dA_2 \wedge J A_2^t I_{n,1} dA_2.$$

It follows from

$$A_1^t I_{n,1} dA_2 = (dA_2^t I_{n,1} A_1)^t = -(A_2^t I_{n,1} dA_1)^t = -\sum_{i=1}^m C_i \zeta^t J A_2 dx_i,$$

that  $J A_2^t I_{n,1} dA_2$  is flat. Therefore there exists  $h_2 : \mathbb{R}^m \rightarrow O(n - m, 1)$  such that  $h_2^{-1} dh_2 = J A_2^t I_{n,1} dA_2$ . Take a gauge transformation by

$$\tilde{h}_2 = \begin{pmatrix} I_m & 0 & 0 \\ 0 & I_m & 0 \\ 0 & 0 & h_2 \end{pmatrix}$$

on  $h * \Omega_\lambda$ , the resulting 1-form is

$$\begin{aligned} &\tilde{h}_2 * (h * \Omega_\lambda) \\ &= \tilde{h}_2 (h * \Omega_\lambda) \tilde{h}_2^{-1} - d\tilde{h}_2 \tilde{h}_2^{-1} \\ &= \sum_{i=1}^m \begin{pmatrix} C_i F^t - F C_i^t & -C_i \lambda & 0 \\ C_i^t \lambda & A_1^t I_{n,1} A_{1x_i} & -C_i \zeta^t I_{n,1} A_2 h_2^{-1} \\ 0 & h_2 J A_2^t I_{n,1} \zeta C_i & 0 \end{pmatrix} dx_i. \end{aligned}$$

Set  $G = -\zeta^t I_{n,1} A_2 h_2^{-1}$  and using (3.7), we have

$$(3.10) \quad A_1^t I_{n,1} A_{1x_i} - (C_i^t F - I_{n,1} F^t C_i I_{n,1}) = Y C_i, \quad 1 \leq i \leq m,$$

where  $Y = A_1^t I_{n,1} \zeta$ . By using (3.10) and  $A_1^t I_{n,1} A_1 = I_m$ , we get  $Y C_i + (Y C_i)^t = 0$  for all  $1 \leq i \leq n$  which implies  $Y = 0$ . Hence  $\xi = (F, G)$  is a solution of the  $G_{m,n}^1$ -system (2.2).

By using proposition 3.2, we know  $(A_1, F)$  and  $(\tilde{A}_1, \tilde{F})$  are solutions of the  $G_{m,n}^1$ -II system (2.5) corresponding to  $X$  and  $\tilde{X}$  respectively. Let  $A_2, G, A = (A_1, A_2)$  be given as above and  $\hat{W}, \hat{Z}$  as in lemma 2.2. Let

$$(3.11) \quad \gamma = (\gamma_1, \dots, \gamma_{m+n}, \gamma_{m+n+1}) = (\cos \rho \hat{W}^t, \sin \rho \hat{Z}^t A^t),$$

where  $\cos \rho = \frac{s}{\sqrt{1+s^2}}$  and  $\sin \rho = \frac{-1}{\sqrt{1+s^2}}$ . Substituting  $\lambda = 1$  into (2.8), we obtain

$$(3.12) \quad \tilde{E}^{II}(x, 1) = E^{II}(x, 1)(I_{m+n+1} - 2\gamma^t \gamma I_{m+n,1}).$$

Substituting (3.3) into (3.12), we have

$$(3.13) \quad \begin{aligned} \tilde{e}_k &= e_k - 2\gamma_k \sum_{j=1}^{m+n+1} \gamma_j e_j, \quad k = 1, \dots, m+n, \\ \tilde{X} &= X + 2\gamma_{m+n+1} \sum_{j=1}^{m+n+1} \gamma_j e_j. \end{aligned}$$

Notice that  $X = e_{m+n+1}$  and  $\tilde{X} = \tilde{e}_{m+n+1}$ , we know

$$(3.14) \quad \gamma_k X - \gamma_{m+n+1} e_k = \gamma_k \tilde{X} - \gamma_{m+n+1} \tilde{e}_k, \quad k = 1, \dots, m+n.$$

Let  $\Gamma_k = \operatorname{arctanh} \frac{\gamma_{m+n+1}}{\gamma_k}$ ,  $1 \leq k \leq n+m$ , (3.14) becomes

$$(3.15) \quad \cosh \Gamma_k X - \sinh \Gamma_k e_k = \cosh \Gamma_k \tilde{X} - \sinh \Gamma_k \tilde{e}_k.$$

Geometrically (3.19) means that the geodesic of  $\mathbb{H}^{m+n}$  at  $X(x)$  in the direction  $e_k(x)$  intersects the geodesic of  $\mathbb{H}^{m+n}$  at  $\tilde{X}(x)$  in the direction  $\tilde{e}_k(x)$  at a point equidistant to  $X(x)$  and  $\tilde{X}(x)$ . Thus the bundle morphism  $P : \vartheta(X) \rightarrow \vartheta(\tilde{X})$  is a Ribaucour transformation.  $\square$

ACKNOWLEDGEMENT. The author would like to thank prof. Joon-sang Park and anonymous referees for useful suggestions and comments. This work is partially supported by the Postdoctoral research fellowship at KIAS and the National Natural Science Foundation of China (10501043).



## References

- [1] M. Brück, X. Du, J. S. Park, and C.-L. Terng, *The submanifold geometries associated to Grassmannian system*, Mem. Amer. Math. Soc. **155** (2002), 735.
- [2] E. Cartan, *Sur les varietes de courbure constante d'un espace Euclidean ou non-Euclidean*, Bull. Soc. Math., France **47** (1919), 125–160 and **48** (1920), 132–208.
- [3] M. Dajczer and R. Tojeiro, *Isometric immersions and the generalized Laplace and elliptic sinh-Gordon equations*, J. reine. angew. Math. **467** (1995), 109–147.
- [4] ———, *An extension of the classical Ribaucour transformation*, Proc. London Math. Soc. **85** (2002), 211–232.
- [5] D. Hilbert, *Über Flächen, Von Konstanter, Gausscher Krümmung*, Trans. Amer. Math. Soc. **2** (1901), 87–99.
- [6] J. D. Moore, *Isometric immersions of space forms in space forms*, Pacific J. Math. **40** (1972), 157–166.
- [7] ———, *Submanifold of constant positive curvature I*, Duke Math. J. **44** (1977), 449–484.
- [8] J. S. Park, *Riemannian submanifolds in Lorentzian manifolds with the same constant curvatures*, Bull. Korean Math. Soc. **39** (2002), no. 2, 237–249.
- [9] ———, *Isometric immersions of manifolds into space forms with the same constant curvatures*, Commun. Korean Math. Soc. **17** (2002), no. 1, 57–69.
- [10] ———, *Lorentzian submanifolds in Lorentzian space form with the same constant curvatures*, Geom. Dedicata **108** (2004), 93–104.
- [11] F. Pedit, *A non-immersion theorem for space forms*, Comment. Math. Hekvetici **63** (1988), 672–674.
- [12] C.-L. Terng, *Soliton equations and differential geometry*, J. Diff. Geom. **45** (1997), 407–455.
- [13] K. Tenenblat and C.-L. Terng, *Bäcklund's theorem for  $n$ -dimensional submanifolds in  $R^{2n-1}$* , Ann. of Math. **111** (1980), 477–490.
- [14] K. Tenenblat, *Bäcklund theorems for submanifolds of space forms and a generalized wave equation*, Boll. Soc. Brasil. Mat. **16** (1985), 67–92.
- [15] D. Zuo, Q. Chen and Y. Cheng,  *$G_{m,n}^{p,q}$ -system II and diagonalizable time-like immersions in  $R^{p,m}$* , Inverse Problems **20** (2004), 319–329.

School of Mathematics  
 Korea Institute for Advanced Study  
 Seoul 130-722, Korea  
 and  
 Department of Mathematics  
 University of Science and Technology  
 Hefei 230026, P. R. China  
*E-mail*: dfzuo@kias.re.kr (and) dfzuo@ustc.edu.cn